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SAMPLE APA—-6 APLA—-{ APA=R APA-9 APA-10) AFPA-11 L1 ASH 7.6 25 A1)
(8B—35S 11.3100 20 .6 300 2B TT700 14,4500 5.9300 24300 0.0100 0.0 N 0.0 N 0.0 N B
07TN=-016 G.2500 19.2700 27.6500 14 .8800 5.9400 724600 0.0139 0.0 N 0.0 N A1) N
0%6-01G 1U4000 Z23.8100 26.3900 114900 4. 6500 2e4600 0.0116 0.0 N 0.0 N 0.0 N C
0O5H8—-011( &0} 21.6200 31,8200 18.4300 B.O7T00 33,0900 0.0145 0.0 N 0.0 N 0.0 N
(16-02 62200 13.0600 18.9200 21.3400 17.2200 8. 0900 00076 0.0 N 0.0 N 0.0 N
0UH6—0206G 1043800 20.57200 26.3900 12.0700 46300 1.3800 1.0093 0.0 N 0.0 N 0.0 N (
025-03G 10.9900) 17.9400 25.0400 13. 8700 5« 3900 23700 0U«00K3 0.0 N 0.0 N 0.0 N
O7TK—=040 YebH600 1R« 4900 25.K300 14,3900 6.1100 2 e 5601) (e OOR9 0.0 N 0.0 N 0.0 N
02 R—-08( 11.2600 17.4700 24.8900 15.3400 5.8100 244900 0.0082 0.0 N 0.0 N 0.0 N (
(19— 0RG 9 o &H00) 19.4900 27.9200 15.1200 5.9300 2+ 5000 0.0095 0,0 N 0.0 N 0.0 N
095-091, 1Te57200 14,9200 21.0300 218900 12.4200 4,2700 0.0067 0.0 N 0.0 N 0.0 N
O 7=0906 6e& ) 15.2300) 23.5700 23.2000 12.6A600 5.0600 0.0122 0.0 N 0.0 N 0.0 N (
OA1 =090 172.3300 20,6300 2723200 10. 1600 3.9000 la 5400 0.0096 Q.0 N 0.0 N 0.0 N
06 3-090 Ke {2000 17.7900 25.4700 16. 7500 h.1300 2.2100 0.0099 0.0 ] 0.0 N 0.0 N
026=-101 9.4160 19.6600 21.3000 1542800 1.1200 3.H000 0.0115 0.0 N 0.0 N " 0.0 N C
CGahq—=101, S .47 20.1600 37 .4900 19.2700 R.72300 3.2700 ND.0126 0.0 N 0.0 N 0.0 N
06A—-101 HBeb N 256200 26.1100 11.8500 5.5100 3.4300 0.0299 0.0 IN 0.0 ~ N 0.0 N
IH6-106 944300 723.3900 33.7500 16.5900 1. 1700 2.9400 0.01R4 0.0 N 0.0 N 0.0 N C
11345-=11( 4,290t 12.0100 21.5200 23.6500 14.6200 13.1300 0.0149 0.0 N 0.0 N 0.0 N
(imn =116 Y4900 278100 27.0100 10.4300 4, K00 2.« 3500 NaN1A0D Ga0 ] 0.0 N 0.0 N
(24-12( G, 7100 19.R900 34,9600 20,5700 &.9100 3 KOO0 0.029R G20 N 700.0000 0.0 N C
HO2=34S 14 , 000 24 ¢ A0 272000 9.4400 4,72300 723600 H.01R3 0.0 N 0« fl N N.0 N
102—35S 1z.0100 27 «4R0O0 Z26.3900 12.0300 S.4400 79900 00,0218 .0 N 0.0 ] 0.0 N
?274—-341H% Q36010 17 ..5400 25« 5600 17.2800 T.0600 3.1200 0.0134 0.0 ] 0.0 N 0.0 N (i
s 72—36S 6.2500 13.06010 21.6600 25 .000() 16.4000 65300 0.0113 0N N 500, 0000L 0.0 N
71A=—4AN Y RBN5(() 194700 26.3900 13,2800 5. 3600 23700 0.N097 i, 0 i 0.0 N 00 N
Gua ol ENEND 23.1700 19, 5%00° Le?23010) 2. 6300 1.0100 O 0096 0.0 M 0.0 X 0.0 N C
Y — s A L3700 15 e &501) 24.HT700 72 4h(}() 12. 2000 5,2100 (e ] KA N0 Iy 0,N K 0,0 N
25— (- [ o7 7 (it 1R 7200 404 1O0O0 12100 Rob&a(d 44100 00125 g (1 K 00 ] 0.0 N
b= (311a 1n.4600 78 .3300 26+ 5000 1. 7100 4, 3AA00) 2= 5500 .01 54 1.00001 0.0 [\ 0.0 N C
L~ i, Y. 1300 182700 3]« #O0G0O Z2t1a 1 HO10 Ya.Z500) Gy 2R V. 0177 .0 N 11,0 N 0.0 I
g ot e 5 .3700 1596500 7644500 26,7700 12 . 9600 A 6N 0.N153% NN hi 0.0 N n.n N
Io—pus 172.51¢ 24,3100 723.6400 10,4 () 5. NKHOO 2o Lbijiy (0, 024() 0.0 P SO0 0000 0.0 N (
Ly DS 1oreaz0i00 14 . 200(% 20,4700 22 9500 14.%600 T« 5900 f.03027 i N0 N 0.0 iy
W —7295 T N | 1O S [ 28 e 30 10, ~aiin 44 f (LI} 7Z.R6( O.012% ) (o 1) i 0.0 N
“Wp=3 4% CY ST 11.7500 20,0200 2h 650N 18 .R200 s.binn 10199 1.0 n 500.0000L1L 0.0 W} C
Ol —14r N 176400 2 2. K300 175800 5a.1400 T 72.6201 Hh,00Y4 0.0 I Qnn N Nn,0 [
U2 =—pat: 13243200 16.R200 29,4200 15,4210 5.7700 2e46600 N.0122 0,0n N 0,0 N Gl N
Gdim 0y ] Ne 10N 1495010 2445600 23.R%500 13.0200 H . THHD 0.014]1 (1e OGO 0.0 N 0.0 N C
A4 —()]- 12.9300) 7.9 00 R0 4 3000 19.9500 Q.5200 Ao LA N, ,024r 0, N 0.0 | 0.0 I\
=] T 27 017200 2 e (SO0 16 ST S XD ARG TR 0, 0250 .0 n S000 ., 000606 01 N
Sa—-(01]+ 7G4l 15.12G6 25.8B900 24,1100 11.32300 6. D000 N.NCNA 1. 00001 N0 N 0.0 N (
Fe/2-01r Y 206 (500 2Re i) 14,3000 59100 Ze 5000 G.0200 1.00000L T00,0000 0.0 N
R4 —7 3 1900001 2R, TH0O1 23,2000 13.00100 6.1500 4 o &0 0.0303 n_n ] 0.0 N 0,0 N
CHa—2 4 e ( 20010 153900 24, (900 77 «0601) 10,5500 4.49100 (1.027hA 0.0 N 0.0 N 0.0 I\ (
Lh k=2 4p L M0 1322660 21.2700 27.2000 16.9700 . 2800 N.N2R] 1,0 fy 0.0 ] 0.0 N
= T (A 27 46100 27.7100) 12.4960 fon (11} Oaligr] Vel i 0.0 N 0.0 N .
() m—4b4K L AT 190501 16.6100 Ao R0 2.HK00 1.1400 0.0N190 ! N 0.0 it (=0 N C
el =408 17 a2} 27« R4y 19. 7600 LOo.5200 4. 7200 3« 4000 0.0256 0.0 Y O40D ] 0.0 N
D31 =42\ QRO 10,3400 10,5900 T L) 2. R200 1.4000 00,0039 0. 50001 7100,0000 0.0 0
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